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i Mangls and Shehoadh are mining felds of
which of the oliowing mineral o
g‘*, Lignite Coal {8y {eid
(O 031 and Gas 00 Uranium
e AN st Bt ¥ F Rew wher % e
w7
(A Toemde wmm (B w0
(C) a9 ud ??'F{ (D) it
2 Where Saint Ramcharan, the founder of the
Ramsnehi Cult was bom 7
{A) Soda - DHggd
{(B) Szhavure Bhilwara
(Cy Nagiu Bharatpur
(I3 Mukam Bikaner
(PR GER B OTROTIE O TEeTer st der
5T ¥
(A arer-feely (B) sngqu-fearns
(C} "”arrqwm?m () g“w“ T
3 in which city was Bikaner Lok Parichad
cstablished in 1936 7
(A} Bombay {(B) Calcutia
{C) Madras {IN) Delhi
FeET Wi uTrug o W 1936 ¥ R smv
Ay
(A) grgy (B) wemen
(C) memg () Rty
4 When was the first baitlc tought between
Jalore King Kanhaddev and Sultan
Atauddin?
W ATHE HEERd S R aReRE &
g wyA 99 HY gomw 7
{AY 1298 (B 1299
() 1296 {1200
5 Where i3 Dhoolkot situnted ?
{A) Kalibanga {B) Balathal
(T Bairath {5Y Ahar
gwee we Ruh ¥ |
(A TR (B) "
({0 Fs (Ty) orves
& Which of the following Sanskaras are relaied
to birth 7
{A) Sameia {(B) Baan
(<Y Mosar (D) Jadula
Frefnfga & € =9 W Hwsre o § gEfim o
{A) T (B) &7
(C) AT (D) S
771 4

o]

7

ig

i1

i2

Wl ich Raso relates origin of Rajputs with
Agni - Kund” (Fire - Pit) 2
(A_; Prithviraj Rase  {B) Hammir Raso
{C) Bisaldev Rase (D) Khuman Raso
B W TR TR A et @ CelegE 9
Tt s 7
AY g T (B) g TEr
{‘} raady war (D) gmm e

The fort that has a trench on all its sides is
known as _ For,

{A) Eran {(B) Parikh

{C) Paridhi {D) Dhanwan

ag gl fve = o | e ¥ o

3} weaa § 1
(Ao (B) wig
(C) wiffy (D) =

Which work was composed by Jayanak ¢
{A} Prithviraj Vijay (B) Prithviraj Raso
{C} Hamir Raso (D) Hamir Hath
TEE A by W OGRT B vEAr A 7
(Ayyulres fsa (B) gedvos el

(C =0 Tl (D) = &3

The Battle of Khanws was fought in '
TET W Y B W1 T |

{A) 1526 AD. / $a= :

(B) 1556 A.D. / 3&ey

(Cy 1527 A.D. / 3usy

(DY 1572 AD. / S

Which fort is called as 'Chilah ka Teela' ?
(A) Nahargarh (B) Kumbhalgarh
() Jaigarh {17} Mehrangarh

W TG R @ SET weeEn ¢

{A) WE0TR (B) o=
(L) e (D) WETTIE

Panna Dhai saved whose fife 2

{A)} Rana Sanga

{B) Raval Ratan Singh

{C} Rana Pratap

{D) Rana Udai Singh

w1 " N e See @y s e, g ar -
(A e gim

(B) T EeiE

(C) T W

(D) T FeEiE

P.T.0. P

13 Which one of the following Sheep Breed s
known as 'Chakart' 7
{A) Magra (B} Nali
() Sonadi {3y Chokla
frerfwfes ¥ ¥ 89 A 9 @ wwl
F wrk s ¥ 7

v 3 T

(A) TG (B} ¥
(C) TeTEy (D T

14 in which hydroelectricity project, the Govi
of Rajasthan has not entered into the
partnership with neighbouring states 7
(A) Bhakra Magal {8} Maht
{0y Chambal (15} Banas
Tore v frga ofdesn ® Teree ST
ey O & W geREr wE Al ¥
(A) WTEST A (B} 7
(C) = (D) 57me

15 'Som-Kamla-Amba' irrigation project is
situated in -
(A Sirohi (B) Kota
{C) Dungarpur (I Banswara
der-maa-siar g afeemn feg -

(A) Ferddy & (B) wrer #
(C) $RgT A ) Stearet o

16 Which one of the following lakes of
Rajasthan is not covered under 'Maiional
Lake Conssrvation Programme' 7
{A) Anasagar (B3) Fatehsagar
() Kolayat (D)) Pichhola
T o Frafifes AW ¥ 9 @ W@ iy
SIS ST HRiE & siety wE e ¥

(A) SFTETTT (R) WEATHMT
{C) i (D) et

17 When was Kishangarh (Ajmer) Airport
inaugurated ?
(A} October, 2015 (B) October, 2017
(C) October, 2018 (I3) Getober, 20109
TrosTE (FEY) waTE i @ SgEe we R
RE T
{A) sray, 2015
() arrzey, 2018

(B) smemy, 2017
() ersgey, 2019

7Pl b

18

28

21

22

alr 1s pot a cormeat

A A TR R
Which of the olowing o

maich 7

Mineral Mining Area
(&) Conper - Khetari - Singhana
(B) Iron Ore ~ Moriia - Banol
(O Lead and Zink - ZJawar - Magra
{13 Tunpsten - Palang F‘n;angﬂa
Preafeiea o & # o ve g :gz?“ﬁ‘f? G
whr Ce -
(A) T - gad--fhar

(B) % Jow ETET- S

(O wEr oY e S
ﬁ}} e YR HTE]
Bhim Sagar is located af

{AY Shrt Ganganagar (13) Alwar

(Y ¥ota (1) Jhalawar
(A) A e & (B srera o

(C) iz A (D) wwra A

Which of the follow mg district of Rgjasthan,
eserve arga 'Baiju' is situated 7

\A} Bharatpur {2} bﬁ\’%ﬂﬁ.r

{CY Baran {13 Bar

Twwm o Peafaieg Ry A % "? frael, ‘woay

Foard o Rag ® 7
{A) \agY (B) ST
(O A (D) AT

"Rajasthan State Road Transport Corporation’
was established in which yoar 7

s Lo * % ()
TR G UNEET (T @ e R5g

o

q¥ @y e 7

(A) 1962 (B) 1964
(C) 1966 (D) 1968

Which of the following Wildlife Sanciuary
is situated in Karaubi !
(A} Keoladeo (F)
({) Van Vihar {."{})
Fretinige ¥ 9 w97 8w
e o amRew 207

(A T
(Cy = faer

(R Femeeh
(D) Ty

PT.O. b
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23 Which fair 15 famous as Bullock Cart fair'?

{A} Kailadevi fair
(B) Karnimata fair
(C} Shitlamata fair

{13} Both Kailadevi fair and Karnimata fair

TETE AW b T W Ew W ey g T 7
(A) Seedy 9w

(B) sofmmar e

(Cy sPramvaTar Sen
(D)WW@?HWW@F&

44 ‘What is the main feature of Jhalrapatan
Surva Temple 7
(A) Adirath (B) Ashtabhadra
(C) Saptarath (13} Ashtashal
T & gunteT o ger Risear e ¥ 7
(A) amfETy (B) orewg
{C) gwy (D) eregmer -

25 Ghatiyala Prakrit Inscription is ‘zclaied to
which ruler ? ,
{(A) Pratihar Kakkuka
(B) Pratihar Dadd
{C) Pratihar Vatsraj
(D) Pratihar Nagbhatta
gfearan agd afveng feg smow 9 w’i*v&?a E7?
(A) TTTETC Tagpem (B) ufmmr =g
(C) whet s (D) uRyere TTHE

26 Which one of the following texis gives
information about the establishment of
Jatpur and building plan of the city 7
{A) Hammir Raso  (B) Rajvinod -

{C) Vansh Bhaskar (D) Buddhwﬁas
Prerife ¥ & &% o Ty woayT & e ud
ST Wl 9T TRl W @) s dar ¥
(A) == TR (B) e

(C) d91 wTEnT (D) giefmma

27 Which of the following is the source of
Information of Land grant by the ‘Hadi Rani
Karmavati’ at the time of her Jauhar' 7
(A) The copper plate inscription of PUR
(B} The copper plate inscription of Choukli
(C) Ranakpur Fulogy inscription
(D) Inscription of Cheerva
TR T AT B SRl ¥ iy e ane
R gt sEm & wme @ g e o

o’

(A) 9T & FmuE (B) /el & Ty

(C) Tt ol (D) I &1 fiwog
77P1 4

28 The northern gates of which fort, made of
Astadhatu (eight metals) was brought from
Red Fort in 1765 7
{A) Ranthambore (B) Lohagarh
{C) Bhatner (D) Taragarh
e e % T B B ey TR 1765
q w Ree 9 e s ARy Ty 2
{A) Toremsiy {B) ¥erme
(C) Wit (L) e

29 For mastery in which folk instrument was
Sakar Khan honoured with 'Padma Shree’ in
2012 7

{A) Kamayacha (B) Sarangi
(C) Morchang {D) Khartal

%ﬁ?ﬁfﬁarmfrmaér%@rwwaﬁzmz
o vt @ g Rear w7

(A) wramr=ET (B) Tt
(C) v (D) T=ame

30 In which district the temple of Dhaulagarh
Devi is situated ?

{A) Karauli (B) Bharatpur
{C) Bundi (D) Alwar

e 38 W AT /e R ¥ Reg ¥ ¢
(A) & (B) wwagy

© T ‘ (I3) &

31 Which of the following fort is also known
as Garh Beetli ?

(A) Taragarh Fort of Bundi
{B) Gagron Fort
(C) Mehrangarh Fort, Jodhpur
(D) Tatagarh Fort of Ajmer
Frefafas F @ oW @ g T el ¥ o A
ff & e b e
(A) T @ arE ot
(B) vy g
(C) Fre g, shege
(D) eI 57 aTTE g

P.T.O. B

32 The Morth to South length of Rajasthan state
is - :
{A) 826 km {(B) 869 lun
{0 650 km D) 550 kim
TEW W OHT ¥ ol o TR ¥ -
(A) 826 Teviy. (B) 869 fFL
{C) 650 Tadl. (D) 550 =

33 'Kagdi Pickup' gets water from -
(&) Gandhi Sagar dam
(B) Mahi Baiaj Sagar dam
{C) Jakham dam
(D) Jawai dam
‘Tl Ressra’ FemEn S § -
(A) Tidy wrTT T |
(B) Ad—TTeT WO g1 §
(C) o= 9 T

(D) e Wy @
34 What is 'Congress Grass' 7
(A} A weed (B) A fruit
(C) A useful grass (D) A project
wEg T wE 7
(A) U® @A (B) o &9
(C) uw soar om (D) um Qs

35 Which one of the following pairs is not
caorrectly maiched ?
soil type Area

(A} Aridisols - Semi Arid

(B) Alfisols - Humid

(C) Inceptisols - Semi Humid / Sub Humd
(D) Vertisols - Arid

Preafafie goal & @ @i w1 o Ak T8 8 7

H31 VT &
(AyofEEes - oS O
(B) ey - o~ o®
O Tadmm — wdg i /99 o
(D) =didied - =

36 In Rajasthan, maximum administrative forest
areas fall under which of the following
categories ?

(A} Unclassified {(B) Reserve

(C) Protected (D) Pestricted
T ¥ s weEte g Pretvies
afvedf o & Rewd weRm ¥ 7

{A} T iqs"é‘l (R st

37 In which one of the following places in
Raiasthan are Flving Sguirrels’ found 7
(A Mulaindra Hilis National Park

(B Rantharbore Mational Park

\L} Siamata Wildlife banctuary

{3} Bariska Tiger Reserve

e o frafiiew ¥ @ fow wm o e
Peglal mE i €7

(A) TeT e A9 9

(R) Corsiy SYFEE O

(C)y ammEr TN Ty

(Dy aftest =izt B

38 'Rajasthan Forestry and Biodiversity Project’
is sponsored by -
{AY Asian Development Bank
(B} World Bank
() World Trade Organization
(D) Japanese International Co-cperation
. Agency
YRR et uE Sretafre et e
EUR PN G
(A) uhym egaee §@
(B) =€ ¥
(C)yaed 37 SPARwIN
(D) WU ST B-3TT0™ Tl

39 In'Rajasthan 'Wasteland Development
Programme’ is implemented by -
(A Torest Department
{(By Agriculture Department
{C) Irrigation Department
(D) Rural Development and Panchayatiraj
Department
T ¥ Swy gy faew ema it
e -
(A= RIS g
(B) By Fram gy
(C) Fe=m Rram =@
(O Wl foeere v deTERraE fem g3

40 Which district is not inciuded in 'Humid
South - Bastern Plain’ Agro-Climate region
of Rajasthan 7
{A) Bundi (B) Kota
{C) Udaipur (D) Baran
TERYF W1 B w7 R g sive g deE
% piy-wwarg wast # suirw w8 ¥ 7
(A) 98 (B) Wi

(C) T (D) et

77P1 =

(C) JeugT (D) &
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41 Plywood is identified by -
(A} Volume (B} Weight
(£ Thickness {80} Area
TEEL MBS (TNTE) w vewe o ey b
(A) ImEs @ By« 9
(©) st % (D) st &

42 The moisture content of tmber used in
building frames should be -
(AYG 1o 6% {(BY7 5 10%
(Cy 13 10 20% (B)720 t0 27%
S & o e A wad F o) amy
o e -
(AY0 ¥ 6%
(C) 13 & 20%

(B)7 9 10%
(D) 20 & 27%

43 What will be the approximate estimate for
’ a building having 2 rotal carpet area
300 sq.m. ? Extra provision as 10% of area
is provided for wall and varandah, the plinth
area rate is Rs. 1,000/~ per sq. m.
U Dl G FUZ AR 300 e qu
FHHT 10% et St o qeer % fro gmnh
¥, 3 & 92 &9 (plinth) %) &7 Rs. 1000/
sifer eve BT & iR sawer gor B
{(A) 3,00.000 (B) 3,30,000
(C) 4,060,600 (1} 6,560,000

44 Number of cement bags in 1.0 m5 volume
is -
(A} 30 bags (B) 25 bags
{(C) 35 bags (12} 50 bags
TH T AT e Al b ey A b
(A)30 =8 (B) 25 a2
AC) 35 w3 (D) 50 o8

45 if the bench mark is 560.50 m. and height
of instrument Is 561.365 m. then, what will
be back sight ?
@%%560.59%@%'@@
561.365 W, B O 9w ame =f —

{A) 0.863 {Hy 0.560
() 0.567 (03 0.560

77P1 6

46 The bearing of a line is S25° W, What will
be it in Whole Ciicle Bearing (W.C.B.) ?
TR @ B R S250W ¥, o m g whe
ator (W.O.B) § gm & 7
(A) 1559 (B} 205°
(Cy tise (i3 3350

47 An Invar tape is made of an alloy of -
{A) copper and steel
(B) brass and nicke]
{C) brass and steel
(D) nickel and steel
T 20 faw fryr ey @ g B ¥ -
(&) B vF g
(B) St o P
(C) dewr o Fam
(D) Frenet T g

48 The volume of sand required to prepare
100 cubic meter of 1 :2: 4 concrete is -

(A) 44 m3 (B) 32 m3
(C) 28 m? (D) 22 m3

W0 aadet o7 1:2: 4 %8 59 o 79 @

(A) 4449 (B) 323
(C) 285 (D) 2293

49 What will be radius of 3° curve having
20 meter arc length ?

(A) 1146 m. (B) 764 m.
(C) 573 m. (D) 382 m,

TH 3° T ot B wmn e, ol sl wme
e 20 My e 7

(A) 1146 .
{C) 573 .

(B) 764 1.
(D) 382 4.

P.1.O. P

50 The shape of the bending moment diagram
of a simply supported beam canrying hnesarty

varving load is -
(A) Lineaxr (B} Parnbolic
r .

(C) Cubic curve (D) Triangular

Ter FETC st wrow R o Rees Ry
el -

(A) thas (B) WS
(C) wdirm @ (D) Brysmest

51 The standard gauge length over which the
extension is to be measured to determing
percentage elongation of a specimen with

initial cress section {(«.) is -

Rigel &1 T aERT @ (g, ) W TR
Thg TUFT H & Y, A A HRETE BR -

(A) 6.564fa, (B) 5.65.a.

(C) 6.65.Ja, (D) 656 a,

52 The maximum bending moment caused by
three equal loads (cach #7/3) spaced apart at
equal intervals of L/3 on a simply -
supported beam s -

A S STl &I AT B, TG e S
sled € 9T L/3 gee ot 9% 9 i Y
3 T R -

Wi _swi

(A) (B) =5z

- WL
77P1

: ] o=
(M) 5 e ()
JLg
. LEvd ;
(0 Ve (03 V= Ah
R 1%

FEHT HEO

p .
/= \nsatnéili?gg o= YRS Hidih

. . Ad =
[ e M=

member designed

the following tvpe

A column is o structural
nrimarity 16 fake which of
of load ?

(A} Torsional (5
() Compressive () 5
U T T TR TN T ¥ S(S9Ee weY
% Frer 5 3§ frw e & Ry arfvrmsest Tpat S
T 7

(A} qTE

(C) ddiey

1 T

et

LAy P
Shear

{B) 7
{0y g
The nominal shesar stress (T

f.

('t
reinforced concrete beam s given by -

Ty

' SR
vl gt e s e shee (1))

LN
EEIRH
Bei e
{JA‘} e {'E-”} 7
H 243
H -
f/f . 7
Vy b
e T i y - —
(Y ¥, -ba {18 7

seant section

B

PO B
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56

37

58

59

For a well conditioned iriangle, no angle
should be less than -

gotpgplra Brya & e o & oo el w
(A) 200 (B) 30°
(D) 66°

(Cy 45°

in an elastic material the stress-strain relation
is always -

(A) Linsar

(B) Non-linear

(C_;‘:}'i;inear or non-linear

{D)i--é@ircuia.r

The _;jieﬁection at centre of simply supported
beam of span L, subjecied to concentrated
load W at mid span is -
TE Y e 9T @ e (L) ¥, 9 & 7w
TR TWHOET WX () TR A wen F fre
2
B) 48 FT
Wi
16E7

)

Power transmitted by a shaft is given by
exptession in watts -
s % BT ofi SEmE e el afere
femar wire ¥, we H

2aNT 6
() 60 B) 5wt
3NT 60
Ie
(© 60 () INNT

77P1 =

60

61

| W
(A) S

62

In a simply supporied beam carrying UDL
(W along full span (L), the maximum
vending moment at centre would be -

TE Y wehee e e ue anfaafa e
(W) g iz (L) T &7 T ¥ G 96 & 9%
s gww ompel &t 9w e -

Wiz wI*
Ay —— (B) =
. wI? wi*
(C) T ™ e

A simply supported beam carrying a
triangular load, varying gradually from zero
at both ends to (W) per meter at center, the
maximum shear force will be -

U R TR € U T U IS e
it e ¥ ' w0 ¥ Q-9 wEen oo
e 9t W uReifez o1, o aftees &ds 5@
ST

® =

w w
© 2 ™5

The relationship between the radius of
curvature 'R’ bending moment 'M and
flexural rigidity £/ is given by -

et B 'R do el M dieY @ gt
EI% g=7g § ~

M i

(A) R=" ® M==

g _Mi

OFIE D) E=—
PI.O. B

63

64

An event ig :

(A) A dummy activity

(B) A useful criterion

{C) The start and / or finish of an activity or
the group of activities

(D) A definite time interval

uw e ¥

(A) 7w T

(B) 3wEry aEvs

(C) o wRfely =1 gv @ e @ e

(D) Miyee www sraow

Distemper is a type of - :
{A) Gil paint (B) Enamel pai’n_t

(C) Water paint (13} Varnish
BRI T eI @ ¥ - _

- (A) wigw U= (B) s ¥
(C) 7w U= (D =i
CPM. is -

65

66

77P1 b

(A) Activity oriented
(B) Event oriented

(C) Time oriented

(D) Resource oriented |
wiw ¥ -

(A) ittt Sl

(B) w1 Sq@

(C) w3 Tyl

(D) 9 et

The soundness of porﬁand cement can be
tested - '

{A) by Le-Chateliers apparatus

(B) by Vicat needle

(C) by Sieve analysis

(D) by Specific surface analysis
qredE A & gewr afvemr ) wnd ¥ -
(A) T-fredad swec g7y

(B) Rz g T

(C) =1 Taserer g

(D) Tt ae Rsdew grg

67

6%

Masble is a type of rock -

{AY igneous (B} Sedimentary
(C) Metamorphic {13} Gramite
TIECET W W @ 9EE ¥

(A s (B) s
(C) suiala (D) w1 TET (FAE2)

The preparation of surface of stone to obtain
plain edges or to obtain stones of required
size and shape i known as - '
{&) Quarrying of stones

{8) Blasting of siones

{(C) Seasoning of stones

{I>) Dressing of stones

HAWET U7 TEIEE MY ¥ WTH PRI
TRIT & €8 B GO B W BEG E -

(A) Rt & wem

(B) gl o7 Teremie

(C) uerdi 7 "@yes

(D) werd & g

The two main compounds of pertland
cement are -

(A) Tricalcium silicate and dicaleium silicate
(B} Dicalcium silicate and aluminate

oo (C) Tricalcium aluminate and silicate

TG

& (D) Tricalcium silicate and tricalcium

aluminate
diéaTs Wi ¥ 9 e difw ¥ -
(A) gredhlearr fafihe ofit safomm e
(B) s fafwdpe ol wgftre
(C) zeshorem v o fufvde
(D) grgehlogran fafwere ofic gRewhems ggire

Bitumen is obtained from -
(A) Natural organic base
(B) Synthetic

{(C) Peiroleum

(12} Coal

FEHEE T AT ¥ -

(A) whe Sas anar ¥
(B) phm

(C) wifvram &

(DY wrEwr §

P.1.0. p
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71

72

73

T4

Soils are basically -

{A) Organic maierials

(B) Inorganic materials

(C) Mineral materials

(D) Organic and inorganic matcrials
W AW W Y T -

(A) et v

(B) smsElm TE

(C) mhaa warel

(D) widfre 9 S g

if the independent spread footings of two
columns are coannecied by & beam, the
foundation is called -

(A) Combined footing

(B} Connected footing

{(C) Strip footing

(D) Strap footing

afy I w9 WES TE S B T 6§
EIRT ST R 3 O 56 R O A @ HEd B
(A) Hgaa 1T

(B) gaiina i

(C) v A=

(D) gl el

The minimum pressure exerfed by the soil
on the retaining wall is known as -

(A) Seepage pressure

(B) Passive earth pressure

{C) Active earth pressure

(D) Earth pressure at rest

e ot XETT TT R % YT TG B HE E-
(A) fmm =8

(B) FlT 9 =1

(C) whwT o T1w

(D) RerT ayawen % 9] B9

For compaction of soil in laboratory using

" Indian standard light compaction test, the

weight of hammer used for giving blows to
soil is -

(A) 6.5 kg (B) 4.9 kg

(C) 3.5 kg () 2.6 kg

qrediy e 6 Beh WEnw wle % oart
weTe ¥ §E @ €N w4 9 st
¥ forn oA ¥ IHE aww el § -

(A) 6.5 B (B) 4.9 fpmn

(C) 3.5 Brm (D) 2.6 fem

77P1

75

76

77

78

79

10

Which of the following soils have the
highest impermeability 7

{A} Coarse sand (By Cobbles

() Fine sand (D) Silt

By & ¥ oW & gu ) uroTE §E A

¥ e
(A) TR Ym (B) B wert
(C) 78m (D) mE

A soil has a Hquid limit of 40% and plasticity
index of 20%, the plastic limit of the soil
will be - .
e AT 1 gaur 40% 3 guemar gasis 20%
¥ a gE W guew T B -

(A) 20% . (B) 30%

{C) 40% (D) 50%

The height of capiliary rise is maximum in-
(A) Fine gravel (B) Colloids

(C) Silt (D) Fine sand
YT T @ aifuean Al ekl § -

(A) g Tl ¥ (B) widgsy o
(C) e & Dyl W@ H

A course grained soil has a void ratio of 0.7
and specific gravity of 2.70. The critical
gradient at which the quick sand condition
ocecurs is -

e TTET gEr w1 e eew 0.7 ¥ o
fafre e 2,70 € o 19 @ @i Rafky € %
fory wifoes warvrar Bell —

{(A) 1.00 (B) 0.75

(C) 0.50 (D) 025

Uniformity coefficient of a soil is -
{A) always less than 1

(B) always equal to 1

(C) equal to or less than 1

(D) equal to or greater than ]

BT W1 UHEAT e B ¥ -
(Ayeds 1 ¥ wH

(B) ®aa 1 % SUEY

(C) 1 & I0=t o1 389 @H

(D)1 % 9TRET a1 SEY JUS

PTO. B

80 According o S classification, the range of

81

82

83

77D

sift size particle is -

{AY4.75 mm o 2.00 mm
(083 2.006 mm to 0425 mm
() 6,423 mm o 0.075 mm
(DY 0.075 mm to 0.002 mm
IS griferen & amuy e (Raee) & smenry @
e E -

(A 475 Bl & 2.00 fradr
{B) 2.00 Pl & 0.425 faAy
(C) 0,425 B § 0.075 Py,
(D) 0.075 ™ o 0.002 A

A soil sample has lguid lumit gs 45%, plastic
limit as 25% and shrinkage Yimit as 14% for
2 natural water confent 39%, the liguidity
index of the soil is -

9T TN B ave mi 45%, wiles d 25%,
SR ST 14%, ST T B A 30% 3
a7 g% % wend Eeed m AW o -
(A)Y75% (B) 80%

{C)25% (D) 40%

A soil has a bulk density of 22 kKN/m>,

water content 10%., the dry density of soil
ig-

aft qai @l s w22 kN/mP, o @
s 10%, T FET T % e Rhee B 7

(A IB6 KN/m®  (B) 20 kN/m°

(C) 22 kN/m° (T) 23.2 kN/m°

Permeability of soil is affected by -

(A) Crain size and properties of pore fluid
(B) Colour of the container

(C) Material of the container

(D} Bample size

TET i WEET W B ¥ -

(A)wW F HIT Tty owg F o A
Brsm s T

(C)yem & a1g ¥

(D) gat = W anw &

84 The compression resulting from a long term

static load and consequent escape of pore
water i Enown as -

(A Consolidetion (BY Compaciion

(O Bwelling {13 Grading

W GHG o% WGP W o Wi S SErE v
T ud g v vy W et Peewar ¥ el
(A UeRsie o

P

(B gu=r

(C) gw1 (D) srefrecn
85 To obtain parallel lines, cocentric circles and
parallel curves; iz used in AwrollAD,

{A) Array (B} Fillet
(C) Copy () Offset
EHIIRTE Tl W 99 d FEETaT S IS

FEd e AutoCAD W B o &
{A) s {B) Bw=
(C) midy (D) wiwde

86 Which kev is used to obtfain properies

paletie in Autocad 7
ST ¥ W i % feg S 6 gt w A
@O T 7

{A) Control + ]
{C)Y Control + 3

{(B) Control + 2
(D) Control + 4

&7 2-Points option is used to draw circles by

specifving the -
(4&) Two end points of a diameter
. (B) Two end points of a radius
“{C) Radius and tangent to two objects
(D) Centre and two end points of a chord
TR & R A Ty st B ORI we
TU Seeig U wEr © -
(A)U% =g & o fo & g
(B) uww Brour & @ fpare & fag
(CY a1 asree & B g Wyl Ty (39w
(D) um S (1) @ &7 9 Rean & 2 fag

88 Which command allows you fo make the

rectangle or square in AutoCAD ?
TR U T T % Y AuwtoCAD § B =
WA I ¥ W ?

(A)RE (B) REC
(COHR (D) RS

89 Which ong of the following is an Autocad

drawing fiie 7

s F ¥ B W - tehe wRw ¥ 7
{A) dwg.plan (B) plan.dwg

(C) draw.file (D) file.int

PT.O. B
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98 Vind the hydraulic mean radius of a channel, | 94 A method of irrigation by which each tree

23

92

93

having mean velocity of 2 m/sec., if the
siit factor is 1.0 and channel is designed by
Lacey's theory -

(A3 10 m BY20m

(Cy30m (D) 40 m
@%ﬁéﬁ%@?ﬁé%ﬁ@wﬁummﬁmsﬂa
aferg afy wren &1 2 9., v S 1.0 B-
(A) 10 # (B) 20 0.

(Cy 30 . (D) 40 .

Which of the following is not a cash crop ?

(A) Jute (B) Tobacco

{C) Rice (13) Sugarcane

e 8 wm @ s wow A Y 7
(A5 (B) g

(C) =mere (D) o=t

The relation between duty I) in hectares/

cumec., depth of water A in metres and
base period 'B' in days is given by -

FE D TRaEE, T e T A SR T
g BT ¥ o |/ g gy w1 -

1.9858 8.64 &
NA = —
(A) b= (B) A==
5.688 8.64D
A= = —
(€ a=>7 (D) A==
According to Kennedy's theory, the silt

transporting power of a canal is proportional
o -

(a) v B) v2

() V2'5 (D) V4.5
v = velocity of water

Sel THEr B A, AET o fyer ot

g T & AR S -
(8 v ®) v’
() V2‘5 (D) V4'S
YV =T &

TIPT

12

95

%6

97

is surrounded by a horder to form a pool

when waler is applied, is Laﬁed -

{A} Broad irrigation

(2) Distributed irrigation

() Spot irrigation

(D) Basin irrigation

e @ a% ffy Rred o e ¥ awow G

YR OF ST Wi ¥ of wier sy W g,
Jreeg

(A =us HTrg

(B) Rl Reg

(C) we R

(D) s Riwd

Water ieggmg may result from ~
{A) Over irrigation

(By1 uesa rain

{C) Evaporation

(D} Adequate drainage

wH e Py oy ufoome & -

(A) st e

(B) @ =ier

(C) iy

(D) e Pt

The “terms "True Regime" and "Final
Regime" are used in which of the following
theories ?

(A} Chezy's theory (B) Kennedy's theory
{C) Lacey's theory (D) Lincon's theory
7 R ot e R ¥ 92 fre 4 @
e frers ¥ vl ¥ R w7
(Ay==h @1 fomia (B) %% = feglw
(Crow w1 frgim (D) e &1 Regle

Quick sand is a -

{A) Type of sand

(B) Cohesionless soil

(C) Flow condition oceuring in cohesive
50ils

(D) Flow condition occuring in cohesionless

sotl
forem Fve & -
(A1 &7 g&IT
(B) doemer yar
(C) deemr ey o mer & fafy S e
(D) gawaem 9 | T o Rufy fer de

PTI.O. B
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g%

106 The major resisting force in a gravity dam

101 Which of the following

77P1 =

If line of action of the resultant forces on
the dam lies outside the midd;e third of the
bass, then the dam iz susceptible (o -
(A Crushing fadlure

{B) Tension {‘aﬂ ture

(C) Sliding failure

{13} Over turning failure

Tty el Ty U wrig wiondl §9 9Fs o
¥ ey [eR % ey § o v oo fewa ul
Yazwelm sem 7

(A T Terseen

(B) e faweer

(C) wremw Toawmmar

(D) Buws Ten T

As per the IS recommendation, the shape of
lined canal is - .
(A) trapezoidal (B) semicireular
{(C) parabolic (D) elliptic -

IS & ergetar & amare, Waﬁ% (7578) #e
T ST BT & —

(A) eT=IRTT (B) et
(C) aawH (D) Ts@e

is -

{A) water pressure

{B) wave pressure

{C) self - weight of dam

(I3 uplift pressure

To WU H W@ ARUYE €9 % -
(A) o) & e

(B) @W&¥ W TE e

(C) sy & =g & A

(D) Teem g1

18 not the mode of
failure of & gravity dam 7

{&) Overturning failure

(B) Sliding failure

(C) Tension failure

(D) Seepage failure

P H & B W YoR T F W B e
Ea

(A)Tus €

(B) feear o

(Cyewma o

) fam @

103 Lands

182 Which of the foliowing s a rigid dam 7

{A) Gravity dam {B) Earth dam
{CY Rock-fill dam {(I3y Buttress dam
e & & @ o e (@S Wiy %

(A) TEE Ty {B) gt = sy
(C) v Wiy {3 k;ﬁqu El

or climate, that ave neither arid nor
strictly humid in which infertor crops can
be grown without irrigation is calied -
{A) Medium arid zone

(8} Partly arid zone

{C) Semi arid zone

(1) Hybrid arid zone

ufr ot armercer 5 B 7 @) g ot wr & A
e forel sre waw e Rige & o o e
(A)Hegm gs &3

(B) aitfdtes =9 ¥ 5 &=

(C) 9= g% &3

(D) ¥t gwb &

164 A cross drainage structure in which the drain

is taken over a canal, the canal water runs
freely under gravity is -

{A) Super passage  {B) Syphon

) Level crossing (1) Aqueduct

i W g feed T B e % SO R

T B G T BT UMY YEE & BT e Wy
g oEan 8

(A) g T
(C) waw Bty

(B) T
(D) e

103 Base period of a crop is the time between -

(A) The instant of sowing to its harvesting

{B) First watering at the time of sowing to
its last watering

(C) Sowing to last watering

(I3} Bowing to maturity

BEHT W STUREH e 4y

(AYIE © RN $T 99

(B) 9 gw vEE Uy § oitaw ur & ey

(C)ya= o @faw e & @

(D) §9 & 9% & TRY

T oA T ¥ -

1.0 B
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106 In singly reinforced beam. subjected to shear
force F. it is the depth and 4 is the width
of the seciion, then maximum shear stress
is -
wee sateE S0 BE O emeuer 99 F aw T
B HET SEEN B R 4 @ 9sE b o A
sy wTaEyYl TRES B —

/ —M—F B i %

(&) pxd (B) s g?
F P

© 2y D) 37

167 Minimum cover to the main bars in R.C.C.
column should be -
(A) 15 mm or diameter of the bar
(B) 25 mm or diameter of the bar
{C) 20 mm or diameter of the bar
(D) 40 mm or diameter of the bar
yafee R hibie WO W g8 B8l 91 g
O BN AR
(A) 15 firely o1 2% @ =
(B) 25 finfr o1 % w1 =W
(C) 20 firdy =1 B3 & @™
(D) 40 firdy =1 w3 W1 =™

108 For reinforced brick work the modular ratio
is generally taken as -
S $40 F B § e e G ® -
(A) 10 (B) 15
(C) 18 (D) 40

199 In a two way slab the lifting of corners
ocours due to -
-(A) Heavy shear load at mid span
(B) Resultant shear force at the ends
(C) Zero moment at the centre
(D) Torsional moments on the slab
T 3 wg ¥ B 9T IO BRI § -
(A)¥ET ¥ T AT FHAT R B
(B) fqdt oy ofyodl waw 99 % et
(Cywem § g7 MO & WO
(D) gt @8 (@9) 1T 7O et % S

7P b
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118 Expansion joints are provided if the length

of concrete struciure exceeds -
{A) 10 m (Byis m
(Y45 m
gae g Y TE we B wg ¥ ult TEe

(Cy 35 m

T T ol
(AY 10 7Y (B} i5 #.
(C) 35 (1) 45 .

111 For cantilever beam and slabs, the basic
value of span to effective depth ratio is -

wrE (BRERet) U UE vt @S (W) 'Y e
T YA e W1 SMETEE OFYE § -
(A)7 (B) 10

(C) 20 (D) 26

1172 The minimum rmamber of main steel bars in
R.C.C. circular column must be -

TR O W ¥ e B gl o
AT dEn B I -
(A)3 ®) 4
(C)6 (D) 8

113 Deflections can be contrelled by using the
appropriate -

{A) aspect ratio

(B) modular ratic

{C) span / depth ratio
(D) water cement ratic

Rpod o Sugm B0 fasde W FERE fear
ST T & °

(A) sferear s (e SR
(B) =i S

(C) WR/TETR IR

(D) i dre g

PT.O. b

114 The basic principle of survey "working from
whole to part” is related to -
{AY making ploiting easier
{B) making plctiing center to boundary
(C) localising minor errors
(D) minor ervers will be magnified and

uncontrolied

wdaat & gy Rrara aepl wde &% @
BrE-Bie A ¥ iy o q3ee e T i
T
(A} SIHET WG SET HTT 5g
(B) s o WiNT O SNEE QTIEI e
(C) g Fiegl & WHhaTT B
(D) gar 3jfel &1 avaftis od obmile 2o

115 In a Thecdolite, the line passing through the
intersection of the horizontal and vertical
cross hairs and the optical centre of the
object glass and its continuation, is known
as -

{A) Horizontal axis

(B} Vertical axis

(C) Line of sight

{D) Bench mark

rrdierage & way ¥, Yy o dfaw 9 st
391 % WIE Y ol g hia % feHs F oiT
3 @ § T T, vEel @t eed ¥ 7

(A) #fas ata

(B) geAtaT e

(C) s T

(D) aw T (SEwd)

116 Quantities for wood work are computed
generally in terms of -
(A) Numbers
(B) Numbers and length, width
(C) Area in square meter
{D) Volume in cubic meter
THST o T B AT Y T G B S
T -
(A) dear #
(B) demr oft @, d9Ri ¥
(C) goiwm =idey ¥
(D) sreas Ty o

77P1 e ‘ 15

11711 the fore bearing of o line is observed 1o
be ARTZVZ4' the back bearing of line AB
should be -
iy R T o on Trmem ARIOZ4 R @
AB tE @ grye Rerw wrn -

(AL 02924 {3y 77936
(Cy 167938 (D 192924

118 The effect of cu o of earth is neglected

UrVEyea 1s iess fhan-

in case the area to be s
{AY 1000 sg. km

{5 800 =g, km

{C) 560 sg. km

(D} 260 sg. km

GEAT T meHaT oUW @ g @ W §oafy
T R S AT ST T A Bre § we e
(A3 1000 =9 famrdey

(B) 800 = feeindree

(C) 560 = Reanfe

(D) 260 = Rpeidet

119 Contour of different elevations may cross
each other, only in case of -
"v{_!}s} A p‘(‘iﬁd

T {B) An over hanging ¢liff

(Y A hald

{13} An wnclined plane

SaW TH wrawn o v e o) weie vand
T RN TR E -

(AUt g

(B) u% 5o 3 93

(C) o 1B

(L) 7 =7 T

129 The Iength of a Gunter's chain is -
{AY 200 metres {B) 66 metres
() 65 feet (T1y 88 feet
Y AW o w el b -

(A 200 drex (B} 66 fiT
() 66 e (D) 88 W

PT.O. P
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